Residual versus local y

~
e — — e [€SXT150GPst_physics_6035027_raw_3040006_4.root ss (0,12]
o f—
~0.150 i
© - ————  1€SXT150GPst_physics_6035027_raw_3040006_4.root ss (12,24]
5 =
©
7 B —— F€SXT150GPst_physics_6035027_raw_3040006_4.root ss (24,36]
3 =
m O. 1 f——e s s ra s s s s A sy
— ———  1€SXT150GPst_physics_6035027_raw_3040006_4.root ss (36,48]
0.05(—
Ol—
m 0 i e e e e e s
_O. 1 B I 1 1 1 I 1 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1

(o))
o
(00]
o

Thu Feb 10 22:30:45 2005

100

120 140 160 180
Local Y



